Math Exercices

Differential equations

1 First order

Solve the following differential equations. Find an explicit form y(x) when possible, otherwise an implicit equation
F(z,y) = 0. Answers are given between brackets, C' is the undetermined constant.

(4y + 322)y' + 22y =0 [y* 4 32%y* = C]

2y +y? = ayy’ [ —Iny=C]
yv1+a?

3zy® — 2y + (2%y? + )y’ =0 ly = Ca?(zy? — 1)]

(32%y + 22y + y°)dz + (22 + y?)dy = 0 (5t + ) = €]

y/:ai2 [y — aarctan () 4+ C = 0]
(z +y)? a

Y 4+ ycosz = 1sin(2z) [y =sinz — 1+ Ce 5]

y'=(r+y+1)° [y=—2—1—tan(C — )]

1 2
Y =—5 (¥* +2) [zy? = C — 2Inz]

y = Pl [(4y — 2 — 3)(y + 2 — 3)> = C]

(P +a?+a+1)y?— B2 +20+ Dy +229° =0 [(y—Clz+1))(y—C(a®+1)) =0]

dr — (zvy + 22y*)dy = 0 -y +cevr=1]

(1—a?)y —zy = zy? [% =1+ C0Va? = 1}

21‘311/ =1+ \/m [arctanh (\/1 + 4x2y) + %lny = C}

$2y/2_2(xy_4)y/+y2:0 [QZ%;(y—C$)2+8C: ]
22

1-— 2de — 23dy =0 I

(1= 2)yde —o"dy [1—2x+2Cm2]
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Math Exercices

Differential equations

2 Higher order

2x2y" — 3y’ — 15y =0 [y = Cy2°/? + %]
a?y’ 2y =ux [y=—%+Ca® + 2]
22y — Txy 4+ 16y =0 [y =Ci1z* + Cyz*In z]
Without solving the equation, find a particular integral yo of

Yy — 4y’ — 12y = sin(2z) [yo = ﬁ cos(2z) — 21—0 sin(2x)
Yy — 4y’ — 12y = zet® [yo = g—é(?)z +1)e*
23y®) — 622y” + 192y — 27y =0 [y = C1a® + Coa® In(z) 4+ C32® In(z)?]
y b £ 2 fy=e" [y = (Co+ Cyz)cosz + (Cy + Cyx)sinz + Te?]

Note that y = =z is a solution of the following equation if
the right side where 0. Use this fact to obtain the solution

of the equation as given
-y +ay —y=~1-x)? [y = Ciz + Cre” + 22 + 1]

Given the particular integral y; = %, solve

1—a’

221 —a2)y" —z(1+2)y +y=0 I

2
y'(@)?=1+y(2) [y =—2+C;y=%5+9 (D D+ 02}

vy —y'? — 6ay? =0 [y =C1 exp(x3 + CQCC)]
hint : try v =y'/y
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Math Exercices

Differential equations

3 Power series

Use power series (expansion at x = 0) to solve the following equations. Solutions are given between brackets.

/ , el x?m—

y =%y y“:‘);?,nn!

1" / / N IQn-

y'—ay —y=0,y0)=1,y(0)=0 Y= 3o

n=0 |

o 2.5...(3n — 1)]2 ]

1" 2,7 -0 0) =0 "0) =1 — _"[— 3n+l
y'+aty +ay=0, y(0)=0, y'(0) y $+nz_:1() EESI

Show that the following Euler equation has a regular singular point at x = 0, and search a series solution by the Frobenius
method. Compare to the direct solution.

22y +2xy — 2y =0 [y =Ciz + Bx_Q]

Using the Frobenius method, find a power series solution about the point x = 0 of

x? 8 x? oz
22%y" — xy’ + 1+z)y=0 [y =cVzx (1 -+ i 90> + ¢ (ac Y + 30>]

Consider the two equations below. The first one has two equal indicial roots, the seond one has two integer roots. For both
equations find a series expansion at the origin for the two basis solution y; (z) and y2(z). For ya give only the recurrence
relation between the coefficients of the series, and the first 3 terms.

r o] )
—2)"
zy"+y +2y=0 Y1 = E ((n'))2 2" 5 Yo =yiln(x) + e+ (4 —2¢1)x + (e1 — 3)z* + ...
L n=0
M [e%s) n41
" r a 3 2
y'z =y U ,1220”!(“1)! ;Y2 =y ln(z) + +01I+(2 4>I +

Calculate the indicial roots 71 and 79 of the following equation, and show that they are complex. Show that the Frobenius
method gives two power series y; and y» involving complex coefficients and powers. Considering only the first term of
y1 and yo, combine them to find the first term of the two real-valued solutions ¢§; and §o (hint : assume that the first
coefficient of y; and ys is real).

2’y + (2P +2)y +y=0 [1 = cos(In(z)) + ... ; g2 =sin(In(z)) + .. .]
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, indicial Roots Differ by a Positive Integer
The ODE

xy”—y:O

has a regular singular point at zero. The indicial polynomial has roots r; = 1 and
r, = 0. The equation has a Frobenius series solution of the form

o0 oc
yi=x E ax" = E a,x"*", ap #0
n=0 n=0

Find the a,’s by the Method of Power Series with ay = 1: a, = 1 /((n+ 1)!n!). So

oc x" n+|

S I 2 I 3
_)H—XZ (n-l—l)'n' Z n+])'n' —x+§x + 12X + ..

n=0 n=0

From Theorem 1, a second solution has the form

i n=aylnx+) dx',  d=1, x>0 )
i n=0

Insert the expression for y; into the ODE xy; — y; = 0. Since xy| — y, = 0:

aey; — yomnrta (2 = 2) 4 300+ 1y - d 1w

n=0

S~ 2n+1 &
B a,,; (Dl +"Z;[”(”+ Déi = dal¥’

The recursion relation is

—(2n+1)
n(t Dl = dn = (n+ 1!



Forn =0, 1, 2, the recursion relation reduces to

-3« —Sa
—d()——a. 2d2—d|—T, 6d3—d227

Since dy = 1 is already built into Step 5, @ = 1. Thus,
a=dy=1, dy=d/2-13/4, dy=4d,/12—-7/36

Let d; = 0 (or any other convenient value) and use the recursion to determine d,,
n=2,3,.... Use formula (4) for y,(x) witha =1, do=1, d, =0, d, = —3/4,
dy = —7/36. Use recursion for d,, n > 4. Then

3 7
=y 1 ] —=xX*— —x"4+...
Yy2=ynlnx+ 4x 36x+

is a second solution independent of y,.

Although « is not zero in formula (4) of Example 2, it can be zero. for another
ODE. Then, the second solution is a power series, and there is no logarithmic term.



Partiel 1 : Equations différentielles

Durée 1h30

On considere ’équation différentielle suivante
(1—22)y" - 22y +2y=0 (1)

1. Cherchez une solution de la forme y1(z) = =" avec r réel, valable pour tout z.

2. On va chercher la deuxiéme solution de base y; de cette équation du second ordre en utilisant la méthode du
Wronskien. Calculez le Wronskien de I’équation (1)

3. En déduire I'équation différentielle du ler ordre a laquelle satisfait ya.

4. La résoudre pour trouver yo. !

2 Equation de Hermite

L’équation différentielle de Hermite est
y' —2zy +2ny =0 (2)
avec n € N
1. On se place dans le cas ou n = 0. Chercher la solution de 1’équation (on pourra utiliser la fonction erfi(z) =
% f v et? dt, la notation [ “ désigne la primitive). A quelle condition la solution ne diverge pas & I'infini ?
2. n est maintenant un entier quelconque. Chercher une solution a I’équation (2) sous la forme d’un développement en
série :

oo
y(z) = Z cpa”
p=0

et donner la relation de récurrence entre les coefficients.

3. Montrer qu’il y a deux solutions : yo(z) paire qui dépend du coeflicient ¢g et y1(z) impaire qui dépend de ¢; (on
ne demande pas de faire le calcul explicite des coefficients de ces séries). Est-ce que ces solutions vous semblent
indépendantes (et pourquot) ?

4. Dans le cas ol n est pair, montrer que la solution paire yo est un polyndéme de degré n (c’est & dire que tous les
coefficients ¢, avec p > n sont nuls). C’est le polynéme d’Hermite H,,(z).

5. Lorsque n est impair, a-t-on aussi une solution polynomiale de type Hy(z)?

6. Donner explicitement les expressions des premiers polyndmes de Hermite : Ho(z), Hi(z), Ha(z) et Hs(z) (prendre
co =1et ¢y =2). NB : dans la littérature on pourra trouver des polyndmes proportionnels 4 ceur que vous obtenez
ici, pour des raisons liées d la normalisation.

7. On définit la fonction de Weber-Hermite d’ordre n par

un(2) = Ha(z) exp(~ )

Trouver I'équation différentielle du second ordre & laquelle satisfait u, (z).
8. Application : I’équation de Schrodinger de 'oscillateur harmonique a une dimension s’écrit
d%y  2m 1
— + (E—-=Cz*)yp =0
dz? = R? ( 2 )
avec E 'énergie, m la masse, C et /i des constantes positives. Montrer qu'un changement de variable de type z = a X
permet de ramener cette équation & celle de u,,. Donner la forme des solutions ¥, (z) et Pénergie E, correspondante.

1On rappelle qu'une fraction du type m se met sous la forme (I%a) + ﬁ et que pour trouver A il suffit de multiplier par (z —a)

et de faire tendre x vers a. Idem pour B : c’est la méthode de décomposition en éléments simples.
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Math Exercices

Legendre polynomials and spherical harmonics

1 Variations about Legendre polynomials

1. Show that

/1 P,(t) (14 h? —2nt)"/2dt = 2h”
" C2n+1

where h < 1.

2. Using Rodrigues Formula, establish the recurrence relation

Py i(x) =Py, _i(x) + (2n + 1) P, ()

3. Expand the function f(z) =In (H—”) as a series in Legendre polynomials for —1 < « < 1. Hint : use the identity

/ 11 @) e = 1) e = ()" [ o L

dx™ 1 dx™

2 Multipole expansion

1. A point charge ¢ is located at the position (0,0, zp). Write down the electric potential V(r,8) at a point of polar
coordinates (r,6) using Coulomb’s law. Expand V as a series of Legendre polynomials for r > |z|, and give the
three first terms of the developpement.

2. Same question if we add a second charge —q at the position —zp. Show that the asymptotic potential is oc 1/72
(dipolar potential).

3. How would be modified the multipole expansion of r < |zg| ? Express the potential of the two charges of question 2
near the origin and give the leading term of the series.

4. Write down the multipole expansion as a series in spherical harmonics in the case of 4 charges ¢; located at positions
7 with : g1 = q3 =¢q, ¢2 = @a = —q, ™1 = (a,0,0) = —7%, 73 = (0,a,0) = —74 (a > 0). Give the first term of the
series.

3 Conducting sphere with hemispheres at different potentials

We consider a conducting sphere of radius a made up of two hemispheres separated by a small insulating ring. The
northern hemisphere is kept at fixed potential +V (—V; for the southern hemisphere).

1. Determine the electric potential in the region r > a as a series in Legendre polynomials P;. Write down the terms
up to I = 4.

2. Same question inside the sphere (r < a). Verify that the two series give the same result at r = a.
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Math Exercices

Bessel functions

1 Miscellaneous exercices

1. Take the Fourier transform of Bessel differential equation for v = 0 and calculate the Fourier transform of Jo(z).
We recall that TF [y (z)] = 2imvf(v) and TF [z.y(z)] = —g= £ f(v)

- 2
answer : Jo(v) = ——==1I(nv
o) = g ™)

2. Calculate the integral
o0
/ Jn(z) dz
0

for n € N, Hint : proceed for n = 0 (use the result of the previous exercice) and n = 1 then generalise for any n.

3. Calculate the Hankel transform of §(r) + §(r — a) with @ > 0 (in optics this is the amplitude diffracted by a
point-source and a circular ring of radius a).

2 Orthogonality of J,

We consider the following scalar product defined for 2 functions u and v over the interval [0,1] with u(1) = v(1) =0 :

1
(u,v) = /0 zu(z)v(z)dz

We set u(z) = J,(anz) and v(z) = J,(apz) with o, and a, the n-th and p-th zero of J,. We will prove that the scalar
product (u,v) = 0, hence that the functions are orthogonal.

1. Using the variable change £ = a, X, write down the differential equation for u(X). Same for v(X).

2. Combine the results above to obtain a differential equation in which appears the product u(X)v(X)X.

3. Integrate this equation and show that {J,(anz), Ju(apz)) =0

3 The hanging chain

We consider a chain of mass m suspended at its upper end.
We denote as L the length of the chain and assume that its L 1
mass density is uniform. At equilibrium, the chain is ver-
tical. When disturbed it oscillate from side to side : these
oscillations are described by a function u(z,t). z is the ver-
tical coordinate measured upwards. For small oscillations,
the equation for u(z,t) expresses as u(x,1)

16%u 0%u  Ou

707 "o oz

1. Search for solutions of the form u(z,t) = T(z).F(x)
2. Show that F is solution of a Bessel equation /

3. Show that the general form of the solution is

u(x,t) = Z Ar Jo (ak\/—%_> sin(wgt + o)
k=1

where «y, is the k-th zero of Jy and wy = %‘l\/%
4. Explain how to calculate A, and ¢y, providing initial conditions u(z,0) = f(x) and %(z,0) = 0 (do not perform the
calculation)
This problem was solved in 1732 by Bernouilli, about 1 century before the introduction of Bessel functions (1824).
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Partiel 2 : Fonctions spéciales

Durée 1h30

1 Diffusion

Des particules diffusent & l'intérieur d’un récipient cylindrique de rayon R. L’axe du cylindre coincide avec ’axe z des
coordonnées cylindriques (p, ¢, z). La concentration ¢(p,t) des particules est supposée indépendante de z et ¢. Elle obéit a
I’équation de diffusion

Jc
DAC = a (1)

avec D une constante positive (coefficient de diffusion) et A le Laplacien! On impose en outre une condition de bord sur c :

2

(3

¢

)

1.

e 0 (courant de particules nul sur les bords pour tout ¢, c’est & dire pas de fuite).

o=

Chercher une solution a variables séparées de la forme c(p,t) = T'(t).F'(p) et montrer que ’équation 1 donne naissance &
deux équations différentielles ordinaires, I'une pour 7" et ’autre pour F.

. Résoudre I’équation de T'(t). On veillera & ce que la solution ne tende pas vers 'infini pour ¢ grand.
. Montrer que ’équation de F(p) fait apparaitre une équation différentielle de Bessel et donner la forme de la solution de

base F(p) (on rejettera également les solutions tendant vers 'infini).

. Réécrire F(p) en appliquant la condition de bord (cf plus haut). On notera a, le n-iéme zéro de la fonction de Bessel

concernée (on précisera de quelle fonction il s’agit).

. Ecrire la concentration ¢(p,t) sous forme d’'un développement en série (série de Fourier-Bessel). On notera A, les coeffi-

cients. On pourra aussi poser 7 = R2/D.

Potentiel gravitationnel d’une étoile double

On modélise une étoile double par deux masses ponctuelles m; et mg situées aux coordonnées (0,0, d) pour I’étoile 1, et
(0,0, —d) pour 'étoile 2. On prendra m; = m, dans tout le probleme. On considére un satellite qui orbite 4 grande distance
{(r > d) autour de cette étoile double. La position de ce satellite est repérée par les coordonnées sphériques (r,9, ¢), avec ¢ =0
(le satellite orbite dans un plan qui contient les 2 étoiles). On rappelle ’expression du potentiel gravitationnel V(7) créé en un
point 7 par une masse ponctuelle M située en 7 :

V(;)Z_G_M

|7 — 7ol

. Ecrire le potentiel V;(r, 8) créé par ’étoile 1 au niveau du satellite, sous forme d’un développement en série de polynémes

de Legendre (développement multipolaire)
Faire de méme pour 1’étoile 2
Ecrire le potentiel gravitationnel V(r, 8) de I’ensemble en s’arrétant au 2e terme non nul (terme quadrupolaire).

Montrer que V(r,8) peut s’écrire comme le potentiel newtonien V, créé par une masse ponctuelle & l'origine (dont on
précisera la masse) plus un terme de perturbation anisotrope §V.

. Pour quelles valeurs de # a-t-on 6V maximal, nul et minimal (on notera §Vis la valeur maximale)? Représenter

schématiquement le potentiel V(r,8) en fonction de 6 pour r fixé (on fera un graphe polaire comme on l’a fait en
cours pour les Y;™).

. A partir de quelle distance r le rapport Vs /Vy est il inférieur & 1% 7
. On appelle § le champ gravitationnel créé par I’étoile double et défini par § = —VV. Calculer les trois composantes

(9r, 96, 94) de ce champ gravitationnel?.
Le théoreéme de Gauss prévoit que le flux ® de g sur une sphere de rayon r est égal & —4mGM ou M est la masse renfermée
par la sphére de rayon r. On rappelle que le flux est défini par I'intégrale

m 27
¢ = / / gr 72 sin(0) df do
6=0J¢=0

Montrer que le théoréme de Gauss est vérifié dans notre cas et que la perturbation §V ne contribue pas au flux @ (on
rappelle que les polynémes de Legendre sont orthogonaux).

. Expliquer pourquoi les termes suivants du développement multipolaire de V' ne contribuent pas non plus au flux .

190
Le laplacien en coordonnées cylindriques s'écrit A = = £ <

2Le gradient en coordonnées sphériques est V= (

ATV
p \" 8p 2 §¢2 022
0 17 " 1 35
ar'r 06’ rsinf 8¢
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